B 2024/2/26

REX

-Iz—/\—‘/—3OO
tB I:II:I ﬁﬁ *& %E

20094 1R

KECEHAEHEAMLVEMETEVET B AEGEHARIIZ SIS
DEERRICEYVEFLAREEMEDLHYFES . FTHT T EIZELY,
EEHOIHERIE. RFYDOREXZEXMABHEVEHLE TSI,

[380310]

Hix

AARER

FEp

IN1 5B
E—S8ER1T)
T8 (B517)

AW

Hiaig s




BEHE 2024/2/26

—/\—Y— 300
1.RAER

3

@ @ -
: .
& )




+—/\—Y— 300 F#HE 2024/2/26
380310 1.AR{KER
RE|HAES B & % WE| 1ZHEHEM HE
1| S301 [&{K 1 65,840
2| S302 |&AKE 1 34,650
3| S313 |HHKR—k(A) 2 15,020
4| S314 |[HHKR—k(B) 2 9,130
5| WO055 |/NEIUTERILE (M5 x 18) 12 150
6| WO051 |/NAIFUTERILE (M5 X 16) 4 150
7| S502 [EYT¥TH(OG) 1 23,100 21T
7| S312 [FEYL¥Tk 1 - BRA7 68T
8| S311 |YvIr= 1 6,930
9| WG05 |[FHhFES (5) 2 150
10 [ WOSBA [RAUTERILE (M5 x 30) 2 150
11| S315 |[HioHE 1 5,090
12| Wil [FES (8) 2 150
13| S324 [HiEHE£HRL 1 630
14 [ W080 [ARFyUTERILE (M8 x 15) 1 150
15| S316 [HIEFUFTE 2 700
16 | S322 [A{A#Eh 1 7170
17| S323 |9ZyFIU5 1 11,550
18| WL87 [RTULHEL (8 x 45) 1 150
19| W882 [ARANFEi1EHAL (#85c M10X20) 1 150
20| S321 |ARAEBYEL 1 840
21| W684 |RATUTEIEHRL (EMYEMBX14) [ 1 150
22| WGO08 |lEhEs (8) 6 150
23| WO8F |REFUTERILE (M8 % 30) 6 150
24| S319 |Zz)Lk 1 290
25| S318 |[JxJLHRZ 1 1,390
26 | W251 [HG~/phARL (M5 % 8) 1 150
27 NZH 1 — ETIEE TR
28| S388 |MIHXZ (150A) 1 1,740
28| S387 |MTHXZ (200A) 1 2,200
28| S389 |MZHXZ (250A) 1 2,780
28| S386 |MZHXZ (300A) 1 3,010
28| S395 [moHXZ (350A) 1 3,240 HEERT
29| S329 |HAZ 1 1,570
30| S396 |<&2U 2 3,470
31| WA43 |73545 (R1/8) 1 150
32| WC05 |/R"AFTYh (M5) 4 150
33| S434 |Rv4H (10L) 1 6,010 347
33| S425 |B Y (20L) 1 6,010 BRA 7 G T
34| S435 |avy (BW-1011) 1 2,080 a7
34| S426 |TFavH (1/4) 1 2,080 BRA 7 88T
35| S427 |#MFHEFVE (PF1/4) 1 840 BRA 7 88T
36| S428 |h—R (4m) 1 5,550
37| S429 |HTS (1TSH) 2 4510 IB24A 7 1E 118
38| ZJ50 |h—R/N\UK (10mm) 2 210 IB24A 7 1E 118
39| S430 |HTS (1TPM) 2 2,080 IB24A 7 1E 118
40| S433 [3FKILFFa—T 1% 5,550
41| WC12 |AREAFvbk (M12) 1 150 HaA47
42| 7514 |oy)o4 (P14) 1 150 a7
43| S508 [/NILTTSHwk 1 5,900 HaA4T
44 | W740 |RAFUFEIEHRL KIEHFEMEx4) | 1 150 HaA4T
S507 [InfmEs (OG) 1 114,350 HaA4T
S398 [In#mFE 1 - BRA T AHKHR T




BEHE 2024/2/26

+—/\—— 300
2. X\ ER




t+—/\—Y— 300 FiH 2024/2/26
2.5 &R
HMZ%E| BARES B £ WE| BERM

1| S307 |AEH 1 12,140
2| S3715 |RFPYLY (600222) 2 1,050
3| S317 |h5— 1 1,390
4| S501 |A#EA¥Y(OG) 1 6,590 P
4| S306 |AEFY 1 6,930 B247
5 F— (AA5X5%12) 1 190
6| WWI5 |CHzLE&ER (EHA15) 2 150
7| S373 |RFYLY (60822) 2 980
8| S500 |E=#>F¥(0G) 1 17,330 AT
8| S305 |E=A Xy 1 12,140 B247
9| S303 |H/N—(A) 1 15,020

10| WNO8 [FEfTE> (8% 20) 2 150

11| W062 [ARANMFERILE (M6 % 16) 4 150

12| S304 [H/3—(B) 1 8,670

13| S309 |BH#A 1 8,550

14| 8376 [RF7YLY (6004Z22) 1 1,390

15| S308 |BEh¥Y 1 15,940

16| WT55 [¥F— (\A5x5x%15) 1 190

17| S374 |[R7YL4y (6000Z22) 1 1,390

18| WG06 |[[XhESR (6) 4 150

19 [ WO06B [/ARAIYTERILE (M6 % 25) 4 150

20| WcCo08 |/RAFvk (M8) 1 150

21 S310 |EYEY S451 : NEg{TF 1 5,580

22 | S450 |=—FKILRF7Y LY (RNA4900) 1 4,160

23 | S325S |#F(A)—= 1 24,260

24 | S325 |[HEFARIE(A) 1 18,020

25| WQo1 |ffEk (1/4) 4 150

26 | S328 |#F(Et 1 570

27| S326 |#WFULT 1 5,780

28 | S327 |#FILHER 1 180

29 | WO082 |/RATUTERILE (M8 % 20) 2 150

30| S364 |UIAHEA 1 11,090

31| S361 |9TA+ 2 32,340

32| S362S |ZFzvk(B)—=H 3 2,230

33| w663 |ARANFEIEHRL (EAYHEME X 10) | 1 150

34| w687 |ARANFELEHRAL (EMYHEM8X25) [ 2 150

35| w261 |E~/hal (M6 x 10) 1 150

36

37

38

39

40

41

42

43

44

45

46

47

48

49




BEH 2024/2/26

+—/\—— 300
3./\1 XER




+—/\—Y— 300 EIH 2024/2/26

3.7\ REB
NE| BARES B & & WE| BEEM
1| S331 [/INARKIK 1 57,750
2| S385 |/INARAZIL 2 3,470
3| S339 [|/NqREHYLY 2 1,740
4| S334 |[/NAREH 1 17,330
5| S338 [/N\fREHfL 1 1,390
6| WL45 |RTYUTEY (4x18) 2 150
7| S333 |TFrvbKRAIL 1 10,400
8| WS85 |¥— (FH7x7x%x15) 1 190
9| S452 |RFPYLLTES (AWO08) 1 530
10| S453 [RF7YUHFvk (ANO08) 1 870
11| S366 |FEL/N—F 1 17,330
12| S367 |ZFTIyhkAIL(B) 1 10,400
13| ws89 |[+— (FH7x7x%x19) 1 190
14| S337 |/INAREAE 1 2,780
15[ wo61 [AREAFFERILE (M6 % 12) 2 150
16 | S346 (/A REH/T 1 4510
17| S341S [ZFzyh(A)—=H 2 8,090
18| W681 [RANFEILEHAL (EMYEM8%8) | 5 150
19| S362S [SFzvyk(B)—= 1 2,230
20| S368 |/\KRIL 1 6,930
21 S340 |/INARHBYEL 1 1,390
22| 8332 |/NARHE 4 6,930
23| WO063 |NRAIUTERILE (M6 % 20) 8 150
24| S335 |Fr—F 1 10,060
25| WO062 |NREIUTERILE (M6 %X 16) 2 150
26| S344 |F—rTPa 1 3,820
27| S369 |)J—TFI—r (71L) 1 11,090
28| S345 |Fr—rHhal 1 6,700
29 | S347 |EE{HFvbk (M18) 1 1,740
30| w587 |FS5RARL (M8x12) 3 150
31| 833 |Fr—rO—37 1 6,930
32| S343 |m—3EY 1 980
33
34
35
36
37
38
39
40
41
42
43
44
45
46
47
48
49
50




t—/\—Y— 300 EHA 2024/2/26
4E—ZE FH2AT)




t—/\—Y— 300 EHA 2024/2/26
4E—ZEB(FZFA4T)
HMZ%E| BARES B & WE| BERM
1| S503 [#F(0G) 1 25,410
2| S504 |E—HEROG) 1 32,340
3| s455 |FL—kB 1 20,790
4| s456 |TL—FA 1 17,330
5| S506 |2 VER(OG) 1 27,720
6| S457 |E—% (4P 750W 100V) | 1 110,880 a T YN
7| S505 |E—%LEZE(OG) 1 43,890
8| s454 |[E—HKA 1 12,710
9| S354 |#FARIEB) 1 18,020
10| S328 |#FIEHh 1 570
11| S327 |MFILHER 1 180
12| S326 [(#FULY 1 5,780
13| S382 |[E—4JL—hH 1 10,170
14| Y825 |(RAwWF 1 7,750
15| Y826 |4—7J)Laxy4 (CTS-11) 1 1,740
16| F153 |F¥TA2Ava—F—=K 1= 6,930 F—ARFETHTaFE
17| 8365 |R—LTL—hk 1 —
18| W252 [|HE~R/phl (M5 % 10) 4 150
19| W567 |FS5ZRAL (M6 x 12) 4 150
20 | WO061 |/RATUTERILE (M6 % 12) 4 150
21| WG06 |lIHafEs (6) 4 150
22| W62 |FEE (6) 4 150
23| w032 |IEBEAAIUTERILE  (M8X20) 4 150
24| w031 |[IEBEAAIUYFTERILE  (M8X16) 2 150
25| WO082 |/RATUTERILE (M8 % 20) 6 150
26 | WOSF |/RAITUTERILE (M8 x 30) 2 150
27 | WG08 |[EHFES (8) 4 150
28 | WISl |FEE (8) 4 150
29 | wQo1 |ffEk (1/4) 4 150
30| w762 |ARANGEIEHRL KIXAHEME%6) | 1 150
31| Wo033 [ARANMFEIEDHRL (%5 M6 x 8) 1 1,070 SeimED | Eik
32 | W24A |E~/pRl (M4 x 65) 2 150
33| w42 |FES (4) 6 150
34| wco4 |AREFVUL (M4) 4 150
35| w242 |a~Rihal (M4 x10) 4 150
36 | WN34 |EfiiE (#4%5) 2 150
37| S510 |OGAZL—Fhk 1 630 T7IL=
38| 383 |ZLFIITINIvTb—=HK (35m) 1= 196,350
39 EERaYTUY <= . . 430 4 F 125V
0 S516 e i avTroHteyk 1R 20,790 SO uE Sy
41
42
43
44
45
46
47
48
49
50




t—/\—Y— 300 EHA 2024/2/26
5. E—5&B(IBZAT)




+—/\—— 300 B A 2024/2/26
5. E—42E(IBRA47)
NE| BARES B @& & WE| ZEEM L]
1| 8351 [BE—%4%—R 1 45,050
2| 8352 |E—HHY—RE 1 10,400
3| 8357 |7—R/\vFY 1 1,390
4| S348 |1 248 530
5 w242 |HR/MRaL (M4 x 10) 20 150
6| Y978 |/NFUEE (C-7-2) 248 910
7| W236 |H/pfal (M3 x10) 8 150
8| S358 [|@EEAR(A) 1 840
9| S359 |@ESRIR(B) 1 — G T
10| S380 |E—4% (2P 750W 100V) | 1 — A—h—8Ed ik
11 EZEIAILTUY (200 F 125V) 1 - HEAHRT
12 BE AT Y ( 60uF 220V) 1 - HGRT
13| S356 |E—%45—XiH 1 3,130
14 NETFYE (M5) 4 150
15 1ERIZRL (M5 x 14) 4 150
16 | S355 |arTrHI/AUK 1 1,620
17 FEE (4) 2 150
18 Tl (M4 x12) 2 150
19| S382 [E—%#JL—h 1 10,170
20 Tl (M4 x 22) 2 150
21| Y825 |RAYF 1 7,550
22 AAYFINyFY 1 200
23 [FHREE (10) 4 150
24 NATUTERILE (M10 X 25) 4 150
25| S353 |E—AKRA 1 9,480
26 | S354S [##F (B)—= L= 22,870
27| S354 |#WFXRKB) 1 18,020
28 IR (1/4) 4 150
29 | S328 |#F(Et 1 570
30| S326 |fFULS 1 5,780
31 S327 |#EFiEHER 1 180
32 RATUTERILE (M8 x 20) 2 150
33| 8383 |[ILFIIINI¥T—RK (35m) 12 196,350
34| 8365 |R—LTL—b+ 1 —
35 B itR (#0x5) 2 150
36| Y826 |~7—7J)LaRryA (CTS-11) 1 1,740
37| F153 | ®'y¥y7'39°CTa-+y7k 1= 6,930
38| 8383 |JLFIIINI¥T—RK (35m) 1= 196,350
39
40
41
42
43
44
45
46
47
48
49

[$3)
o




